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"4 Graugs Seldel method

- @ Lolve bj Graugs Seidel method -
X+ Y44z = IO
AFL + by— 5z =85

Ex + 15y + 2z =712 .
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o (Q¢—0-9933—3x1-50210)= 1.8486 .
10

Fifeh itemtien ’

o x = 1 (32—4x 1-5070 F 1 84.86) = 0.9936
28
y = ] (35‘__ ggxo.‘%‘i:ﬁé—Axl-Sggé) - 1. 50696
14
| (5&,——0-‘3935 — 3 x1-50696) = 1.848¢6
z = "
Te .

i itevation -
S_g,a.[,x.n.t,,-.h.ﬁ' {E%_.:-—.M’"‘-’

G e (3&-4><|-506%+1.9486) = 0.993¢

28
y == (35— ax6:9936 - A4 x1-848) = I-Co 696
E |
r (09950 = S XLFpETE) = 1.8486
7z - ' (ay-
10

“The ~Solution 15

x:g-‘i%e )y Y= 1.Sob96 & <= 1-8966;

; _ Seidel method :
@ \Sblve the %ollow:nj fégstem bg Grauss

qu—y+az = 1

oA + loy —aZ = 15
1
9x—ay —13% = E
Solution ? | .
(g
'Iﬁe Siven Ag&tem 0'8 eyuations .

qx—Yy +aZ2 =G weste(l]
L+ 10y—Z =15 — (2
ax- ay -3z = —I1 —> 0

o ¢ . 16 A Ily dominans,
Clearly -the coefficent matrix 1S d'aﬂﬂ"‘qu i

we Can applj Grauss - Seide| method .

Dr.S.Gowri /AP/MATHEMATICS Page 2 OF 4




SNS COLLEGE OF TECHNOLOGY

-, -
=
Iy VS

(An Autonomous Institution)

DEPARTMENT OF MATHEMATICS

f l'._)"!
(B

L] Q .} o - ) Fa
"1 - it P — o ) —
& <
2
-
- s » w o ¥ — ()
Q= (15— x+axz &E
o
f ¥ Y s £)
X =_1_ (R —-ay+i=<, S
i35
Fiast itewabion ©
R S r S
TUthnQ ) o I )
Uue =0, = = -—
E""‘“\, & Q (= I

?Lliﬁrtq =1, 3 = g in &)

(75l

— =7 A
- = I"\.‘&‘:L

Sceend Eration:
= Bt

Pulﬁng y-= R, &7

- » - ":‘_“:
e v QX 13028) = D850
w = L. [§FFBE=%
q .
lcas 7z - .36 “'-'E:hr
putting ® = 0.38a8§ , <=
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,O - e -:1
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_ 0.8288, Y= I+ 68
puttina x = 0.8538. Y
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—Thiyd 1teration :
B e

L e e
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[ (q+l-LS'~IR-—Qm.m?5) - a.-93%54
=1
g = o (15— 6:995¢ +aX [-1793) = 1643
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z =1 _(gx0.9254 —&x 1.6y335+1F) = 1.197d
13

ikeration ;
Fourth IceR
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r=_1 (94 16433 — & X 1.1972)
9

"

gz L L1 00165 +ax 1-1972) = 16478
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"

| (ax0-9lbs— QX Ley18 +11) = 1.1952
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Z =

Fifth iteration:

P il i
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Qixth iteration:
‘1 ] (q—}-l.blﬂj —-&M-l‘ﬁ#) — -O-‘?I?lf

n

- (15— 0:91F¢+ ax1-195¢) = 1.6473
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—The ~solutiph S,
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